MATH 111

Saufons

Name:

WORKSHEET 1

|Work i groups Lo answer as many problems as you can. Ask questions il you get stuck.

1. Determine what kind of munber the following are. Circle all that apply.

(a) O Natural @
(b} 1 (luteger) (Rational)
(c) 3 Natural Iuteger (Rational )
(1) —4 Natural w
(¢) -3 Natural Integer (Rational D
(N V5 Natural Integer Rational

(g) V1 (Natural)

() I Cntural)

9, For each of the given numbers, determine if @ and b are fuclors or lerins.

I
0

Irrational
lrrational
Irrational
Irrational
Trrational
(lrrational>
[rrationad

Irrational

(a} 5, a=3,b=2 _— /refi"'s
(b) 7, a=1,h=7 %c,f:ofS
Answer:
e e Answer: {%dO(S S
W i Answor: ,re(ms :

3. Evaluate the following arithmetic expressions
s3] 2-[25 -5(4 - 4]
-7 -[29-5(5)]
=2 -[29-25] =2-[3]="!

Answer: - '

(h) JU-G—210)+T(5-8-2) = 3(24-20\ + 7([5 - lé)
=3(4) +7(-\)
\2 -7 =5

Answer:

t
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S+7

() = -6l12-(17-2.3)] = %—6[!7\"(17"6)]
~ 4"'6['2"“] = 4-6[‘] = 4-6=-2

Answer: —2
) 1-2[3-4(5-6-7)) = [—2[3"4“(5-—42)]

= | -2[3-4(-37)] =1-2[3+148]
= -2[6] = -302 =- 30\
Answer: 30 \

4. Bvaluate the expressions directly, then evaluate using the distributive pro yoerty.
Y, B Perts

(n) 310+ 2)

=3(12) =3(10) + 3(2)

= 36 of _ 30 +6
=36

(b) (20+ 14)5

- G
=(34)5 e (10)5 +(w)5
= 170 = 00 + 70

| = |70

(c) (13 = 10)(~10)

= (3)(- o) .13(-10) - 10(-10)

-

- - 30 °C = j30 + 100
= -30

(d) —3(30 - 20)

=-3(lo) - -3(%0)—-3("20)
st '30 = - _..C\O +6O

- -30

Cout,
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5. BExpand the lollowing expressions using the distributive property.

(a) 3(r+7)

2oc + 2\

Answer:

(b) 8(n—2)

Answer: 8& - ‘6
(©) ~3e(ab—5bd) = _3. (GoJo} 3¢ ( -5\od\

—\SGabc 15 bed

Answer:

(d) 4mn(2p+3pg—2q) — L}Mﬂ (ZP) + Lfmn(‘s%) + LI’MO (—Z%)

P - (w12l |1Zmnpg, -&mng
i = 3q.(-205) -2 7 (%) ~S(-2¢3)

—6p7s +4pqcs +10pcs

Answer:

Cont,
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6. Factor the following expressions nsing the distribwiive propoerty.

{n) Je+21

(ot 7)

—20(o¢ -24)

-5b(a -2c)

33{;5( 5%"6'-))

Answer:
(h) —20x + 40y

Auswoer:
(c) —Hab+ 10be

Answer:
{d) 15xyz — 18wy

Alswer:
{¢) 2¢4rs — Gyst + 12rst

Answer:

2.5(4C-3qt +60t)

Comt,
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7. For cach of the given intervals, find a point on the real line that is in one, but not the other. State which interval your
point is in.

() A=[-2,5), B=(-25) Ao~ R, A

(b) A =[0,17), B = (~1,15) — -2 3

(c) A =[4,5), B=4,4.9] _ 445 } A
(d) A=(-1,1), B=(-1,1] Ansser. B 1.&

8. Find the indicated set if A = {1,2,3,4.5,6,7}, B = {2,4,6,8}, C = {7,8.9.10}.

@ AuD §1.2,3,4,56,7,83

Answer:

(b) ANB §2,4,61%

Answoer:

(©) BUC S, 4,6,7,8,9,101

Answoer:

(d)y BncC {'9

Answer:

(e) ALC £1,2,3,(+,5,617r91qflo}

Answer:

(f) AncC {73

Answer:

(g) AUBUC F1,2,3,4,5,6, 7,8.4,00%

Answer:

(h) ANBNC Empty

Answior:

(i) AN (0,3) i\,z—i_

Answer:

() Bn(3.9) f4,6,87

Answoer:

Cont.
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9. Use exponential notation to rewrite the following products.

(n) 2.5.3-2.2.5.7-3 3 = 1_7
2:-35-5

Answer:

(b) 3-11-11-2.5.13.17-23.17 e 3.5. “2. |3 |‘72.23

Answer:

{¢) 7-5-7-5-11-13-11-19 ‘ 51_71,“1. 13- 19

Answer

() 5-2.2.2.3.5.5.3 | 2.3. 317 53 “

Answer

10. Use the riles of exponents to write each expression in as simple a form as possiblo.

(#) 5-57 5.3
Answer:

b) (-3)°

(b) (=3) 31
Answer:

107

o 10°
Answor:

() 51.5°2 2
Answer: 5

Answor:
9= i, 2..’
0 55
-1
Answer: 2
(g) (2"
Answor:
=5 =l
(1) %
Answer:

Cont.
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11. Convert each radical to rational exponentinl forni and each rational exponent to radical forn.

1
(a) _\/_5

{c) 45

(d) 1173

(44

() ¥

(f) 2-3

() af

(h}

-

{

e m———

v
57

{1t

(7"

R}

(4%)

Answor:

Answer:

Answer:

Answer:

Answier:

Answor;

Answer:

Answer:

5

7

Cont.
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12. Evaluate the following.

2 5 24 +3-5 P + 15
(ﬂ)§+ﬁ = Ll' = |2
BE 23
e
Answer: ‘2
(1,)g+§ . b-24 7-4 - |2 + 673
1% \ & -
-7
Auswer: 4“

9T 3.7-2.5

_Zl-to

- i - | & |
2 7 Angwer: /L('
@i 1.3 -156-2 _ 33 -3¢

T 15-3 . 45

Answer:
0 () = 7
. 35
Answer: {2'
-7
"R - L
77
Answer: 33
G/11 G |
s Tlﬁ/(?'/s)
- 6 3 _ 63 =
: 'i-l—-‘ L - [['Z_ Answer: 2—2

Cout.
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13. Evaluate the expression.

(a) V10

{b) V16

() (=27)"F - (-:s)Lr

Answer:

Answer:

Answer:

7

Answer:

Answer:

&\

Answoer:

Cont.
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:j'ﬂ?zj@

Answer: —
M VIVEB = }T7.2¢
- Jiae
Answer: \ L\-
14, Simplify the expressions, using exponent rules, leaving your answer in rational exponent form.
5
T2 4
‘ C
Answer: 7 e L

\
o) V- (5,34)/3

/
Answer: 5 ' 9

EVIRE - L{, (?)5355)(‘2'75E3>
\/ctbq'&t t%

':Lf 9\54&8 - 3‘

Answer:

3-5-t

W vEvE . Y 73 Yo Yo %

Answer: “j
- php™

Answer:
Vo 3
2@ (V) = 20 O
L
) Y, V% %
- 1o O - ALex

The End.



